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What is the difference between them — 379992 N

Overview

The X713 is searching for a difference between the requirement of 777 72 N°X and
PR 1K1, according to ¥"M who maintains that by all 2>110°R (including >2»n
wY) 72 7090 TR 1R, This °"n offers an alternate solution.
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It is astonishing! Why did not the X nx state; ‘there is a difference between
them, in the case of a 7w’; which means that he was 12:77,77: a woman and she
committed adultery *7517> X5w while she was n@wTip» to him and, the husband

subsequently divorced her”. In this case the husband is not permitted to live with her, since
she was *rnrn mam. However if he would be subsequently wpn her -

- (NN TINN PRW ARI0A 90 K13 07N 930 CPYINN 102 1MIARTI NRYD 139 A0 02 IR
Then everyone6 agrees that the PR17°p are 190210, as the X na states in the end
of Y9171 795 everyone agrees that if the husband has relations with his (former)

mwIo wife, the child is not a 9%, This means that 72 Poon Pw1Tp; for if PODIN PYITR X
m3, then the child would be a "amn. Therefore if the former husband was 018 his divorced 7010
wife, according to "12°n7 YW who requires 777 72 W°w AWK, she is due 01p, since 72 10910 PYTR;
however according to X°011 12 w"3 who requires 7°°p% 77R77 AWK, she receives no 01p, for they
are forbidden to live together.]®

Summary
If 75775 K7W 1nan anen 707K and then he divorced her, and was subsequently

DANM her; it is 797 72 o, but not 72»PY 7R,

Thinking it over
Is there an advantage in the s"™n solution over the s'®7%3 solution (of 3"779% 7191w2)?

"'We cannot be discussing a case of X", for then she is 7192 np1na, and there is no o1p at all.

? A 719772 X9w 72°92 (even though it is considered a 72°v2 of niar) allows her to still remain a 72102
concerning the 01p of an 71noM1 O1X. See previous footnote # 1.

35" s following the opinion of mooIn there in V0 7"7 ¥, that the ruling of 1PXW 7107 7Y X322 0711 9371
qmn 727 is discussing a case of a Tw7"w 70 (not a M who is still 79¥2 nin). Alternately, there can be no
01p if she is still wedded to him (a 03p is [only] for a AWR K7 WK ,791N2 ,779).

* See 2,x* Mn2* that he is 12w on the WY of ARNVIT MWK *NX "N 921 &Y that is written (7,75 [Xxn] 0™27] in
NWIIA I nwnd (besides the 7wy of IXn»wv1Y which is written (J’,.‘I [®w1] 9272) in 7VIO NWIB).

313 7y WM o0 7.

® This includes even ¥"9. See X271 "7 *"wA (and [X"ya] 237 7"7 Moon) there.

7 See previous 72121 "7 Mmoo,

¥ This concludes the *"n, which began at the end of the previous 191211 7"7 maoIn.
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